H & 0l & AHS B Ml A

SA g2t
B sAPw
el Yy & (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
2l 22,091,874 19,641,832 2,450,042
= 4,536,833
[ 1,149,300
Jl 199,122
[ 1,926,041
= 14,280,578
SFEH 237,859 186,464 51,3%
= 28,500
Ea 209,359
Y 2 237,859 186,464 51,3%
= 28,500
= 209,359
2FHH 2GS 116,054 100,604 15,450
101 e124d| 27,024 25,414 1,610
M IRNZZ2NSE S 27,024 25,414 1,610
OSFNERSS &H At 2RY 27,024
-Jl== 77,0003 x 12 #2492 19,173
=5=g 77,0002 x 1 x52& 4,004
-AXtg 77,0003 x 111 847
-2z 3,000,000& 3,000
201 er23 | 47,730 32,690 15,040
01 At2teltl 27,330 19,490 7,840
Oget+=ZHI 23,010
-Egad geRd s 7Y
180,000 x65 22 2,160
—SENEEE S DA 2l
652 %30, 0000H 1,950
SHNERES BF =8
900,000 900
“E SR DIHA HRUY sF
0,00024+900CH*12] 18,000
@r=1] 4,320
-S| @R ORI2ZE sS4
8,0002 638 +90 4,320
2 s5=34l 20,400 13,200 7,200
O332= € HAl 20,400
-EANEREE DXN REE Y8
4003 x12,00001 =23 9,600
-SRI RYS(NSAHE) dE
1,800,000& %12 1,800
-JFAPHIER A (GBanking) S X224
750,000 x 122 9,000
202 04| 8,400 9,600 1,200
01 2L AL 8,400 9,600 1,200




A SZ el
BH: SFBH
el SEEE 2 EEED
SA - B GR(31) - HIRAY - BES ol by e HlmS2
Og& el g2 J1=20|
100,000& x7H 123 8,400
203 R =& 4,000 4,000
03 AR FRIHRFAIH| 4,000 4,000
- EEEINEES ST
4,000,000& 4,000
207 AR 22,000 22,000
01 HESGH| 22,000 22,000
O ZII=AIE BASEFE 3 9|
22,000,000 * 14! 22,000
303 Za= 6,900 6,900
01 Z&3 6,900 6,900
OSZZ0F SHEIL A& 6,900
-z R 1,500,000& 15 1,500
-2 = 1,200,000& 22 ™ 2,400
& o 1,000,000&+3SH 3,000
BEEMES 25,900 25,200 700
201 2| 2,200 1,500 700
01 ArR2eltl 2,200 1,500 700
Oget===H| 2,200
-S2ZEN 2H EEE WA
150,000& *35 450
-SH SR gt NEAY i M
35,0002 *50% 1,750
301 LetEEZ 3,700 3,700
11 HARHIRIE S 3,200 3,200
Ostgd 2t wsEAX 6l
100,000 +4 H+3CH Al 1,200
OSsHE A H#OA AHI & OHl 24
50,000 *20E x23] 2,000
14 JIEt2 43 500 500 0
OsZgdde ANTAazg
50,0002 103! 500
307 QI2Hol 20,000 20,000
02 QIRHEAAIHE X 20,000 20,000
OHMEIH wetd MAAE & RS JHel &8
24 5 F& 500,000 *53| *6IH 2 15,000
OtZ g tHEgda Y S4sI NEAHS
gs 8 5,000,000 » 14! 5,000
=42 HIoHE2AH(XHA) 67,405 60,660 6,745
101 eI t| 23,100 43,960 A20,860
M IIZtHI22 S e 23,100 43,960 A20,860
OZA3 LloH2L JREX IR 23,100
—-Q124H| 77,0002 x6H x452 20,790
-2 E 2,310,000 2,310
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SA g2t
I o)l
ool Nt dEsed &d (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
7l 199,122
=S 1,690,519
s 3,674,421
e daed 48 10,982,695 8,961,845 2,020,850
= 4,269,333
= 1,149,300
Jl 199,122
= 1,690,519
o 3,674,421
HE=E 2¢c 95,850 81,486 14,364
201 et 3| 94,850 80,686 14,164
01 At 2|l 20,250 31,750 211,500
Oodgt=Zt| 17,500
- TA(ASME) #OHX JIsg
900,000& *102] 9,000
-OIAEA M 2= S
2,000,000& %14 2,000
OISR M2 eHLHEr JIE
100,000& *107H 2 1,000
~HERACE INBE 79
5,500,000 * 14 5,500
Oogxz 2,750
-0IAISX MUl =2 &=Xt Sxt
550,000 52 2,750
2 S52g4l 74,600 48,936 25,664
O=32=  HAl 18,240
-ACEHE HEH PC SEIME=
20,0002« 1CH =12 240
-IESHY MEBHME
300,000 x 1042+ 123 3,600
OISR 82t HIINEZ
100,000 x50 =% 123 6,000
OIS B2t SEASESE
60,0003 * 122 720
-HoledEE a3 JIAEE
350,000& * 128 4,200
-HolEHEE d2E SUAER
100,000& «12& 1,200
-0IMEZR S E HIIAEZ
30,0003 =20 =128 720
-OIMZR AMSE SEAEE
10,0003 »13CH* 123 1,560
OAlZ &I Xl 56,360
BE2E oS RA2d
180,000 *2CH 360
-UIILEEE bl RA2d
5,000,000& 14] 5,000




SA g2t
Z: Oz
Chel: At MEEHH Xd (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
—DIEEFY KA B89
22,000,000& * 14 22,000
-OIAIHAI etas2t F X2l
1,000,000 *57H A 5,000
-HoledEe d2E fA2el 29
17,000,000 * 14 17,000
-OIMEA 2SS FXl2el
3,000,000 *14] 3,000
OISl etas2t 4 2 A5 89
4,000,000 * 14 4,000
206 M=l 1,000 800 200
01 MHZH| 1,000 800 200
OBZY t=8 LY S 7Y
1,000,000 14| 1,000
NEHA HEad 2EAE X2 6,000 6,000 0
Jl 3,000
< 900
T 2,100
307 glztol & 6,000 6,000 0
Jl 3,000
== 900
o 2,100
02 LB AAHEE 6,000 6,000 0
ONEAME MH2E X9
6,000,000 * 14 6.000
Il 3,000
= 900
s 2,100
BAXOIERN 23 65,000 45,600 19,400
7l 32,500
=S 9,750
o 22,750
301 LEtE NS 65,000 45,600 19,400
Jl 32,500
= 9,750
[Ea 22,750
14 DBt 2 a3 65,000 45,600 19,400
OBAXOIERN HOA QMEIE K=
32,500,000& =23 65,000
Il 32,500
= 9,750
Ea 22,750
NSAH S$HAEOIERN 29 10,000 600 9,400
Il 5,000
= 1,500




SN BB
I o)l
ool Nt dEsed &d (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
[Ea 3,500
301 EetE2 NS 10,000 600 9,400
Il 5,000
= 1,500
= 3,500
4Bt 2 a=S 10,000 600 9,400
OMNSIt SAROIEN HUOA 2HEE Xs
10,000,000 * 14 10,000
Jl 5,000
= 1,500
= 3,500
Al OIMIEX eHe B2 R A 30,000 0 30,000
L= 9,000
= 21,000
401 AlZHIZ R OHbI 30,000 0 30,000
== 9,000
= 21,000
01 Al&HI 30,000 0 30,000
OADIE HOIARIDI X
30,000,000 = 1CH 30,000
= 9,000
= 21,000
OIMIZHA eSS X 10,000 40,000 30,000
= 3,000
o 7,000
401 Al HIZ S OHbI 10,000 40,000 30,000
== 3,000
o 7,000
01 Al&HI 10,000 40,000 230,000
QUM MBS &
10,000,000 1CH 10,000
< 3,000
= 7,000
OINIEIX =2 BHE ol ZAl 52,000 50,000 2,000
= 26,000
& 7,800
= 18,200
101 @124H| 52,000 50,000 2,000
= 26,000
< 7,800
[Ea 18,200
M ORNZZ2NSE S 52,000 50,000 2,000
OsRAM AR ARY NS S
26,000,000 2 52,000
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KEH
ool

- SHRABA) - HRAY - BES

Ofl &F2H

MEE
Ofl &k2h

oA

26,000
7,800
18,200

Ao 2M=0 Xs

S

UMY

9,580
8,622
479
479

16,919

AT7,339

S

M

9,580
8,622
479
479

16,919

AT7,339

14 J|EtE &S

O&HIloll &3X FH=0

4,790,000& 2L

S

M

9,580

9,580
8,622
479
479

16,919

AT7,339

=dl0lE MelX#

Mo A

2,246,600
1,123,300
336,990
786,310

1,996,840

249,760

402 SIZERHE01 M

r

=
N

Mo A

2,246,600
1,123,300
336,990
786,310

1,996,840

249,760

03 2IZ+RAETAIS I
O£dI0IE Mel X
-8 SdI0OIE ®Mel XY

-HI=8 =e0IE HMel XA

-XSHg X&

3,520,000 400

5,400,000 «39&

6,280,000 *100=

Moo

Mo A

Mo

2,246,600
2,246,600

1,408,000
704,000
211,200
492,800

210,600
105,300
31,590
73,710
628,000
314,000
94,200
219,800

1,996,840

249,760

LXI=d0IE MelX2

240,000

200,000

40,000

401 AIEHIZL R THYI

240,000

200,000

40,000

01 AlZHI

240,000

200,000

40,000




SN A
Ha: (]
ool 3

SA - ZB . 9(B) - NIRA - BaS ol ke e HlmS2

OYXI=dOIE Mel NJAAE
20,000,000 128 240,000

HIINSkES L SHelZet E(XA) 4,223,000 3,647,400 575,600
2,409,000

725,800
1,088,200

Mo W

402 SIZERHE0| M 4,223,000 3,647,400 575,600
2,409,000

725,800
1,088,200

HoH W

02 QIR 2 A E X (0IETHR) 4,223,000 3,647,400 575,600
O&IIXSAt QI ES ALY 4,223,000

11,000,000 +205CH 2,255,000
1,025,000

492,000

738,000
-&IIHA B2 N 84,000,000 = 1CH 84,000
70,000
7,000
7,000

Mo W

Mo W

©

-MIlsEx 25 K&
20,000,000 ~93CH 1,860,000

1,302,000
223,200
334,800

Mo W

-HII01EX 25 K&
1,600,000 * 15CH 24,000

12,000
3,600
8,400

MW

ItE=5E I EXIKE A 20,000 0 20,000
6,000
14,000

Mo

402 SI2EXH201 ™ 20,000 0 20,000
6,000
14,000

M

02 QIINEASE X (0IETHE) 20,000 0 20,000
Ooltgssd)| X K&

10,000,000& %27 20,000
6,000
14,000

A H

2ESHI| EXX2A 26,000 0 26,000
7,800

in




SA g2t
I o)l
ool Nt dEsed &d (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
[Ea 18,200
402 2IZtA=01d 26,000 0 26,000
=S 7,800
s 18,200
02 RIINEASEZ(0IETHR) 26,000 0 26,000
O2=3HI| 411 N
1,000,000& 267 26,000
< 7,800
= 18,200
0120l Setxte LPGRIE Mt X2 70,000 105,000 235,000
= 35,000
[ 10,500
= 24,500
402 QIF X201 & 70,000 105,000 /35,000
= 35,000
== 10,500
Ea 24,500
02 QI EASEX(0IETHR) 70,000 105,000 /35,000
OO0 el0| St xte LPaRH &ah XI&
7,000,000 *10CH 70,000
= 35,000
= 10,500
= 24,500
CR1E AESXE LPGXH HE XA 74,000 120,000 A\46,000
= 37,000
= 11,100
= 25,900
402 2I2FX=201H 74,000 120,000 246,000
= 37,000
= 11,100
o 25,900
02 QI XHE AL E R (01X THE) 74,000 120,000 246,000
OL=1E 2=XHE LPGAH HEtX&
1,000,000 74CH 74,000
= 37,000
= 11,100
a 25,900
SR BHIENMZAIS 2,964,200 1,280,000 1,684,200
= 1,482,100
= 444,630
a 1,037,470
301 EtE NS 2,964,200 1,280,000 1,684,200
= 1,482,100
= 444,630
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I o)l
ool Nt dEsed &d CEREED
RA - BE - SHAEH) - HRA - BAS ol &t e HIDEY
[Ea 1,037,470
14 DBt 2 a3 2,964,200 1,280,000 1,684,200
0552 =2ARX ZIIHX XA
1,600,000& *1,056CH 1,689,600
= 844,800
< 253,440
2 591,360
0453 -2BRA TIIHX XA
4,000,000 *300CH 1,200,000
= 600,000
= 180,000
[Ea 420,000
O=AHAEIIH ZIIHIX XA
3,730,000 +20CH 74,600
= 37,300
= 11,190
i 26,110
BHEOtA XMZHEXI(0PF) S22 178,200 1,140,000 A961,800
= 89,100
S 26,730
i 62,370
402 212t X201 & 178,200 1,140,000 A961,800
= 89,100
= 26,730
[Ea 62,370
02 QIEN 2 AL EZ(0IMTHR) 178,200 1,140,000 A961,800
OUHEItA MZEXI(0PF) £
3,300,000 +54CH 178,200
= 89,100
= 26,730
[ia 62,370
SRR BESI12 B ds7Al2 2,265 0 2,265
= 1,133
= 340
s 92
402 2I2F X201 & 2,265 0 2,265
= 1,133
S 340
[ia 2
02 QIEN AL E X (0IETHR) 2,265 0 2,265
OE3J12t Bl ds7Al2c
113,240 +20CH 2,265
= 1,133
== 340




2A:
PSER
o e

ool

S - BE - B9I(3) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

H

792

Mo W

330,000
198,000
39,600
92,400

165,000

165,000

402 SI2ERHE01 M

r

=
N

Mo W

330,000
198,000
39,600
92,400

165,000

165,000

N
o
o

(OIXTHE)
Al

AE2AE E
A

y

O
¥
x
Bl

|

=

16,500,000 *20CH

Mo

330,000

330,000
198,000
39,600
92,400

165,000

165,000

Mo W

30,000
18,000
3,600
8,400

27,000

3,000

402 SIZERHE0| M

H H W

30,000
18,000
3,600
8,400

27,000

3,000

02 QI X2 AL EE(OIETH
ONEE MN=sAS22 ESMY

~2EL R

[0

Ky
k>
Jn
Ol

100,000 180 CH

600,000 *20AI CH

Mo

H H W

30,000
30,000
18,000
10,800
2,160
5,040
12,000
7,200
1,440
3,360

27,000

3,000

S

M

300,000
150,000

45,000
105,000

300,000

401 AIZHIZL 20

S

M

300,000
150,000

45,000
105,000

300,000

01 AlZHI

300,000

300,000
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SA g2t
mE: TjoiE e
ol BHEESAHO THAEE &y EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
307 glztol & 6,000 6,000 0
= 540
= 5,460
06 2= 6,000 6,000 0
ORoMMSE TR 283
200,000 *30H 6,000
=S 540
= 5,460
OMMSAE B85 Y 22| (RHAl) 68,080 68,080 0
201 =3 1,800 1,800
01 At2telt] 1,800 1,800
Ogit=3H| 1,800
-OfMES=E 25 2 S2= A
450,000 x25*22 1,800
206 MH=H| 45,880 45,880
01 M=4l 45,880 45,880
Os&= Llgils EXNES 7
30,0002 %1,500= 0t 45,000
OOtESE E=2 QIAHAl cHE M
2203 =4, 0000 880
301 EtE N = 20,400 20,400
14 DBt 2 a=S 20,400 20,400
O0tds= UlolUX A8 7Y
600, 00024 +30% 18,000
OUERD UNPR TASE AT P4
120,0002 28 * 102 2,400
OrisAlE 25 & 22l(3) 390,000 400,000 10,000
= 90,000
== 27,000
o 273,000
402 2I2E X201 & 390,000 400,000 10,000
= 90,000
S 27,000
= 273,000
02 RIENEASEZ(0IETHR) 390,000 400,000 10,000
OOtd == UlaioEAlE £X K&
3,000,000 * 13004 2~ 390,000
= 90,000
= 27,000
o 273,000
OisAlE 5 & 2el(%) 139,492 134,872 4,620
< 24,300
o 115,192
101 @124H| 87,492 69,872 17,620




SA g2t
mE: TjoiE e
ol BHEESAHO THAEE &y EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
< 8,700
= 78,792
03 SRH(RINHA) 222+ 87,492 69,872 17,620
O0tdS=E TAIE E 87,492
-Jl2s 2,022,530 2H 123 48,541
= 8,700
[Ea 39,841
-=24| 140,000& x2&~ 123 3,360
~i b A4l 91,0002 x224* 182 3,276
JbEsy 20000215224+ 122 480
—ER2Rsy
17,6703 x2& x3b A1 2k 122 14,843
-d2+g 1,011,2702 x2E 22| 4,046
-0 2,022,5303 «2&*23] 8,091
-GESOt| 1,213,520 x2H 23 4,8%
301 eEtE N = 12,000 10,000 2,000
= 3,600
o 8,400
14 DBt 2a=3 12,000 10,000 2,000
OOrdS=0l 2lgt s&= Uloi2d
500,000 x220H 2= 11,000
< 3,300
Ea 7,700
O0tdsE e & 2XS= 015
50,0008 *202] 1,000
= 300
Ea 700
307 @I2t0| & 40,000 55,000 /15,000
== 12,000
o 28,000
05 2ItRIE = 40,000 55,000 A15,000
OX=E OIESE AtHl /S
6102 %65,573ke 40,000
= 12,000
s 28,000
MEH ndS EXIAI(R) 100,000 100,000 0
= 24,000
S 7,200
= 68,800
101 @124H| 50,000 50,000 0
= 12,000
< 3,600
[Ea 34,400
M ORNZZ2NSE S 50,000 50,000 0




2A:
PSER
o e

ool

i

for o U
g &

+A

o rl
0¥ 12 oY
ol

2l
401 Xjoi &t

I
0k

ES

0x

‘

Ofl &F2H

MEE
Ofl &k2h

S - BE - B9I(3) - NRAY - BES

OMENH WA S (OtAIEL) HMH 12
2,000,000 x25H

Mo W

50,000
12,000

3,600
34,400

401 AIZHIZ 20

HH W

50,000
12,000

3,600
34,400

50,000

01 Al&H|

OMENHMEAIS (DAL MDA ZHI EX2
1,000, 000& *50&]

HH W

50,000

50,000
12,000

3,600
34,400

50,000

M H

10,000
3,000
7,000

10,000

301 LeEN=

M

10,000
3,000
7,000

10,000

11 @AMAHIXI &

fn §
OMEHAHI L BIAIZ (JIAIEY) R HOHA 24
10,000,000& * 14!

M

10,000

10,000
3,000
7,000

10,000

HH W

60,000
30,000

9,000
21,000

60,000

MW

7,100
3,550
1,065
2,485

7,100

2,000,000 %14

500,000& *32

MW

MW

3,500

2,000
1,000
300
700
1,500
750
225
525

3,500




SN BB
. ogtg e
ol BHEESAHO THAEE &y EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
02 S5=24g4l 3,600 3,600
Oxtg F=U 300,000 *1CH* 1204 3,600
= 1,800
S 540
[Ea 1,260
206 MH=HI 15,000 15,000
= 7,500
S 2,250
[Ea 5,250
01 =l 15,000 15,000
OHAI H2I8 28 ¢ goi2E 2
15,000,000 * 14| 15,000
= 7,500
== 2,250
Ea 5,250
301 LEtE NS 13,600 13,600
= 6,800
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210,000/ +38% 7,980
02 35284l 6,350 3,760 2,590
OZRH ¥ ey |sXzel
150,000 »29CH 4,350
OSgJl sAl2el 1,000, 0002 2CH 2,000
203 =4l 7,980 8,100 A120
M FA2SHIFII 7,980 8,100 A120
ORA2YAREEIHI(832)
665,000 * 122 7,980
405 AHoHE S 3,900 5,200 21,300
01 AL =S F = 3,900 5,200 /1,300
OogeE IRH 7Y 1,300, 0002 *3CH 3,900
Hegs(ezzeln) 611,635 562,467 49,168
fReHXIE (8 22l 611,635 562,467 49,168
WERHAXIES(SENLELEIH HES) 611,635 562,467 49,168
701 JIEHRIHNSEES 611,635 562,467 49,168
01 JIE=I AN ES 611,635 562,467 49,168
TZ2IHLAIY S22 dE=
611,635,000 x14] 611,635




